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QUESTION 1

What term describes the output of a compiler?
A. Compile Module

B. Source Module

C. Object Module

D. Load Module

Correct Answer: C

QUESTION 2

Which of the following enables an organization to define individuals and groups with access privileges to z/0OS?
A. RACF

B. APF

C.JES

D. SvC

Correct Answer: A

QUESTION 3

Which of the following programming models is supported by the WebSphere Application Server (WAS) for z/OS
environment?

A. Parallel Object Oriented
B. Java macro level (JML)
C. Procedural Architecture
D. J2EE

Correct Answer: D
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QUESTION 4

Including all name segments and periods, the length of a dataset name cannot exceed how many characters?
A. 48

B. 44

C. 40

D. 36

Correct Answer: B

QUESTION 5

Which of the following describes SQL where DB2 determines the access path at run time?
A. Determined

B. Dynamic

C. Static

D. Agile

Correct Answer: B
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